Power and Sample Size of a Crossover Design

PASS Repeated Measures

The following analysis of variance was generated by NCSS for the response variable: NRESP.

Analysis of Variance Table
Source

Sum of
Mean

Prob
Power
Term
DF
Squares
Square
F-Ratio
Level
(Alpha=0,10)
A: Sequence
1
0,675
0,675
0,40
0,529723
0,164687
B(A): Subject
28
46,675
1,666964



C: Period
1
0,075
0,075
0,06
0,814109
0,109091
AC: Sequence*Period
1
16,875
16,875
12,68
0,001347*
0,966191
BC(A)
28
37,275
1,33125



S
0
0

Total (Adjusted)
59
102,85
Total
60
* Term significant at alpha = 0,10
Means and Standard Error Section



Standard
Term
Count
Mean
Error
All
60
2,9875

A: Sequence
1
20
3,1
0,2887009
2
40
2,875
0,2041424
C: period
1
30
2,95
0,2106537
2
30
3,025
0,2106537
AC: Sequence,period
1,1
10
2,5
0,364863
1,2
10
3,7
0,364863
2,1
20
3,4
0,2579971
2,2
20
2,35
0,2579971
A value for the hypothesized interaction effects is to find the standard deviation of the interaction by taking the square root of the Sum of Squares for the interaction divided by the total number of observations. In this case,
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